
SAP ABAP table LAGP {Storage bins}

LAGP

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

LGPLA [CHAR (10)]

LGBER [CHAR (3)]

LPTYP [CHAR (2)]

SPGRU [CHAR (1)]

GEWEI [UNIT (3)]

BRAND [CHAR (2)]

KOBER [CHAR (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 LAGP-GEWEI = T006-MSEHI 
0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)] LAGP-LGNUM = T300-LGNUM 0..N

0..N

T301

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)] LAGP-LGTYP = T301-LGTYP 0..N

1

T302

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

LGBER [CHAR (3)]

 LAGP-LGBER = T302-LGBER 
0..N

1

T303

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LPTYP [CHAR (2)]

 LAGP-LPTYP = T303-LPTYP 

0..N

1

T309

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

BRAND [CHAR (2)]

 LAGP-BRAND = T309-BRAND 

0..N

{0,1}

T30A

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

KOBER [CHAR (3)]

 LAGP-KOBER = T30A-KOBER 

0..N

1

T330

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

SPGRU [CHAR (1)]

 LAGP-SPGRU = T330-SPGRU 

0..N

{0,1}


